ger7 10 firie # sveff srg qeT—gRa®dT & HHIF BT [HAATT SfloTHoSRo TR TAFH & HHAIG & 3999 F¥ o | JT
3flo THo 3[R0 TTIY TP G JeT—YNadl & HHIP (47 & al &% SFEferd ¥ f1deT ovd Fei—gRadr e o |
Level : 3 Exam. - 2020
PGT : For Lecturer GEO GRAPHY
. . . Question-Booklet Serial No. & O. M. R. Serial No.
s i) || | | L[ ] |SET:A
Roll No. (In Figures)
AIHHID (ARI H)
Roll No. (In Words)
TRET S5 BT A -
Name of Examination Centre
JrRreft T A Fgeft $ TR :
Name of Candidate Signature of Candidate
9 yE-gRa®T § gt @1 | 4g | TE B 150 g 214 hours
No. of Pages in this Question Booklet No. of Questions Time

e @ sxaerR / Signature of Invigilator :
el BT 10 e &1 T TRF-gRa®T W BY &Sl B ue To1 SR UFe H U fJaRr W= & forg faam smen | afe wrA-gRaew 9
IR UG DT HH AT AT AThd B A GR Dow D I MG PG TA-JRIPT 99 of | SO UTEN] Ply IMET WIBR ol
fFar S| 9 10 el & ofaRed, wedl & SR o a1 & fog @ 2y He @1 9wy A S afe el snaedff @t
gE-gRa®T § Ry ¢ &M@ off ge § 31 IR 1 31 dag B @ 3w oy AR A e Tl & SwRT ufdasT @7 @
o srawR fam ST | o erwreft fFiRT o/avR & IRM 39 TR H AT UfIAST 9IS FrEfad # IO HRaT WHd 1 T AW
P 915, 39 9 # g gfoaedl W Bis faErR T8 fear s

Iy faedt g & 2= 9 ofoh argm & fr=rar 2 o 3RSl 7reas &1 99 S1% AT S |

Ifthere is any variance between Hindi and English Version of any question then English Version would be considered correct.

argffat @ forg T / INSTRUCTIONS FOR THE CANDIDATES :

1. JTHIAR. IR UFH 30 TA—gRTPI & F<R @1 & | 519 AP YTH—YRIBT U DI P SIY, O SR T3P el IR &9 A
$Ict BTl dicd g U9 | fAaROr W | (The OMR Answer Sheet is inside this Question Booklet. When you are directed to read the
Question Booklet, take out the OMR Answer Sheet and fill in the particulars carefully with black ball point pen only.)

2. TeTT B AR 21, TS ¥ Ud UT-gRAGT H 150 UTT T | B FUMHS b T8l 8| (The test is of two-and-half hours
duration and consists of 150 questions. There is no negative marking.)

3. U faaRer Jifdhd B Ud SR UAG R e o & oY Sadt wTel dfdl @ise U9 &1 gANT & | nge yea—gRdadt &1
SR #RF UG SR T=P P IR § |G &) | (Use Black Ball Point Pen only for writing particulars on this
page/darkening responses in the Answer Sheet. The candidate should remain careful in handling the question paper and in
darkening the responses on the answer sheet.)

4. v 10 fiFe ¥, g8 N gHRFd o= o & uea—gRaer FHiE IR ST 156 FHeG S & § | 3R I8 i 8 ar angeff
T TT-YRAPT IR IR U3F o1 & oIy Wderd BT R T HRATG | (Within first 10 minutes, also ensure that your
Question Booklet Serial No. and Answer Sheet Serial No. are the same. In case of discrepancy, the candidate should immediately
report the matter to the Invigilator for replacement of both the Question Booklet and the Answer Sheet.)

5. A9a—3 (YT & forg) 5. Level-3 (For Lecturer)
-1 : 91t faer g f¥rem I (Mo 1 9 Yo 30) Part-I : Child Development
TFT—11 : W9 : (Fo 31 ¥ Yo 60) bl ind Pedagogy (Q';lto Q 322)
. t-1I : . to Q.
(R 15 T2 9 RSN ¢ 15 ) ar anguage _ ([Q31t0Q.60)
_ _ & (Hindi: 15 Q. & English: 15 Q.)

T - s ’ (o 61 ¥ 5o 90) Part-1II : General Studies : (Q-61t0Q.90)
(AT 2 Al - 100, < e TG : 10 7%, (Quantitative Aptitude : 10 Q, Reasoning
A S QG A <10 T) Ability : 10 Q, G. K. & Awareness : 10 Q)

=1V : T (Mo 91 ¥ Yo 150) Part-IV : Geography (Q-91to Q. 150)

e : CERIEEN) gﬁ?ﬁb‘r @ o # Ry v Aw ket & ue ) (Please read other remaining instructions given on the last page of this booklet.)




FOR ROUGH WORK /Y% &4 & foru




[31] [A]
HET -1/ PART -1
91 fare T [3TENS / CHILD DEVELOPMENT AND PEDAGOGY
3 : R 797 % a7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

1. frafatea 8 & dH-41 oM @ @@ 1. Which of the following is not the
Qe 7&f & ? true characteristic of Development ?
(1) fama & oRadw @ ® (1) Development involves changes
(2) TP foEm wadl e @ (2) Early Development is more
SIRED qBr_clE{Uf B © critical than later development
QO REEIGIRED Ye GZIWTI ElSI (3) Development Patterns are
g unpredictable
4) fopg ¥ wke =@ @ (4) There are individual differences
T in development
2. fy=ifofag & @ d-8 WA & 9 2. Which of the following is indirect
B T fafer T 7 method of measurement of motives ?
(1) ar E[ﬁ qbriehl (1) Sentence completion technique
(2) usgat (2) Questionnaire
(3) =% fore (3) Checklist
(4) QTR (4) Interview
3. ‘O GUA B SMYR FM 8 & ? 3. What are the basis of 'Self Concept' ?
(1) |G e (1) Social Roles
(2) R g (2) The Body Image
(3) ST (1) T (2) (3) Above (1) and (2)
(4) I ¥ 9 Fis T2l (4) None of the above

Level-3/9209 P.T.O.



[A]

4. FrfoRead & § -G T &N e

sl fame yhR e i L
7§ ?

(1) SATFBEd
(2) STIemaTat

() W WI FH NGH PHEHBS A
HIA

(4) T B MR W s & 9T
S ar

16 a4 &% AY % AR H 9R
SUCHICE IS

(1) 750 I™ & 900 TH
(2) 1200 919 § 1400 7
(3) 1000 I & 1200 IH

(4) 800 I\ & 1000 IH

P-4 TSI A SO R
Wt v’ & s A9 =@
JsTe6 & & faaem aeqq fear e ?
(1) sifaare

(2) SFflt Tos &ve

(3) SN

(4) G W9 e

Level-3/9209

[4]

4.

5.

6.

Which of the following is not the
characteristic of introverted thinking
type personality as given by Jung ?

(1) Self Centered
(2) Optimistic

(3) Absorbed in his own intellectual
pursuit

(4) Support Theory with facts

What is the approximate weight of
the Brain upto 16 year age ?

(1) 750 gm to 900 gm
(2) 1200 gm to 1400 gm
(3) 1000 gm to 1200 gm

(4) 800 gm to 1000 gm

Which
scientific description of 'Individual

Psychologist ~ presented

differences' in his Book 'Hereditary
Genius' ?

(1) Allport
(2) Biggi and Hunt
(3) Jean Piaget

(4) Sir Fransis Galton



[5] [A]

7. e § | PM-G1 G9EeH @ 7. Which of the following is Direct
TE qHT © 7 Method of Adjustment ?
(1) <|9 (1) Repression
(2) gfcms (2) Regression
(3) JdErR aAqr ST (3) Withdrawl and Submissiveness
(4) gk (4) Rationalization

8. FMifofad & & @H-® Sheichll 8. Which of the following orientation
Freaedt & SN RU T Afve e falls under the post convention level
AU

R &SI @lea &) @ of Moral Development Theory

A B 7 propounded by Kohlberg ?
(1) 398 TG SHTSRIRAT (1) Punishment and Obedience
(2) GRS (2) Social contract
(3) ITH ASH /T TSI (3) Good boy/Nice girl
(4) &g 3R GmIoTh e (4) Law and Social order
9. frfafad & & F-0 Resiean & 9. Which of the following is not the
Qe 7&f & ? characteristic of Adolescence ?
(1) Germes R (1) Emotional Stability
(2) O e gqMe (2) Contrasting Mental Moods
(3) Fqa™ @t fae (3) Anxiety of Vocation
(4) 9] Pl N wE (4) Feeling of Hero worship
10. S° §M STAl P B BT o 10. A statement of knowledge or skills
fmelt et Gﬂiﬁﬁ % 9% W S that student should master after
E|Ti%'Q Hedd & instruction, is known as :
(1) A content analysis
D ﬁﬁl'&l?l'{ﬁ fagerT (2) An individualized educational
(2) gt fenm wA (IEP) programme (IEP)
(3) APRIAAE e (3) An instructional objective
(4) 9HNY @& (4) General Aims

Level-3/9209 P.T.O.



[A]

11.

12.

13.

14.

frafofea & & #=-w ot wfq @&
T TFET e 7

(1) e
(2) SfEd 4reT
(3) g

(4) T8 qERET & T8 999 W S
HET

Frefefad & | SH-a1 @9@d 93
% g S e @ ddiE
TTE ?

(1) wfefe
(2) STgHe

(3) STFHIT
(4) STAABATED TR

Jeed 7 AHRE T F MR W
IR H AG GL TS TSI
Rl H Aol U e qar § 7

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

R & AJER ‘Afde o’
P Ul STaRT HIF-H T 7

(1) URs™ B 9M e
(2) YBdM SAM YA Hif
(3) FMear 9 faa ™

(4) IAEANTN T RerRar

Level-3/9209

[6]

11.

12.

13.

14.

Which of the following is not the
symptoms of Good Memory ?

(1) Rapidity
(2) Average retention
(3) Accuracy

(4) Recall of right material at right
time

Which of the following concept is not

related with Bandura's Social

Learning Theory ?
(1) Modeling

(2) Adaptation
(3) Imitation

(4) Observational learning

What is the ranking ratio given by
Sheldon for predominant endomorph
person according to physique ?

(1) 7-1-1 2) 1-7-1
3) 1-1-7 (4) 4-4-4

Which is the fifth stage of Personality
development according to Erikson ?

(1) industry v/s inferiority
(2) 1identity v/s role confusion
(3) intimacy v/s isolation

(4) generativity v/s stagnation



15.

16.

17.

18.

Frefafe & & #F-@1 Fows &)
e GOl & 78T & ¢

(1) yartear
(3) TEET

(2) SgHI
(4) Afciar

frefofag & @ d9-a1 M &
gITCeh TR & YR 7e & ?

(1) II9d TR

(2) HiHEH R

(3) AT TR

(4) I SRR

Freifafad & & dH-at %ES &N
Yo AN ST 787 & 7

(1) QeTer

(2) @A T

(3) JaraEn

(4) T

fpee  ®er [ ‘AeifasE Sfifed

Sig-SJall & X & G s
3”7

(1) &R faferm g
(2) | HilE e
(3) Aol IR
(4) faferm =

Level-3/9209

[7]

15.

16.

17.

18.

[A]

Which of the following is not the
element of creativity as given by

Guilford ?
(1) Fluency (2) Incubation

(3) Flexibility (4) Originality

Which of the following is not the
type of positive transfer of learning ?

(1) Lateral transfer
(2) Sequential transfer
(3) Horizontal transfer

(4) Zero transfer

Which of the following is not the
Freud's Psychosexual stage ?

(1) Phallic stage
(2) Autonomy stage
(3) Anal stage

(4) Oral stage

Who stated that "Psychology is the
Positive Science of conduct of living
creatures" ?

(1) Sir William McDougall
(2) Sir Francis Galton

(3) Max Wertheimer

(4) William James

P.T.O.



[A]

19.

20.

21.

fr=ifoifeg & | S9-a1 e a=fem
T ofeee o gl fafr 787 2 ?

(1) I aRads & &y sterar &
# fafy

(2) ReR IEuw @l faf
(3) Jrga sterar W e A fafy
(4) ST ARy & aRASH

‘W OFH @ ®UER, e T
YAETeH & SR S &l T SR
3 78 Frefifed & 9§ fees gfes
%l FalH e §

(1) foamst
(2) At
(3) WIS
(4) 95T

(1) o

(2) STETEIIBLT
(3) TR
(4) HIIBRT

Level-3/9209

[8]

19.

20.

21.

Which of the following is not the
type of "Psychophysical Method" of
study of Educational Psychology ?

(1) The method of minimal changes
or method of limits

(2) The method of constant stimuli

(3) The method of average or mean
error

(4) Modifying
attitude

the individual

'Knowledge is constructed by

transforming, organizing and

re-organizing previous knowledge.'
This best explains the idea of which
of the following ?

(1) Piaget
(2) Vygotsky
(3) Freud
(4) Bandura

the
Development Theory of Piaget, "The

According  to Cognitive

basic building block of knowledge' is
called :

(1) Schema

(2) Assimilation

(3) Accommodation

(4) Equilibration



22,

23.

24.

U IS & HAeHUH A ferenft
F TN T Be B GgI ded,
BHd H dgae  Eeed, U9 @
SgaeH U9 I HA 4 el 7 Ae|
P SgI Tl 9 ASEd a0 e
TE 8 TER & ARH MR 6B
JEEI B 7

(1) gTicHeh =T

(2) FOMHE ST
(3) I SR
(4) TAT ST

frffeag & & dF-& SEu @
Ty /T faRe & 7

(1) ARrei

(2) oTEq

(3) fommEn

(4) TET I Ity

s R EUN | o1 NI £ B B o
e A & e e d
dafa & °

(1) it o1 Rset

(2) 9 T gHR s

(3) F fasTa

(4) TR R

Level-3/9209
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22.

23.

24.

[A]

An English teacher taught their
students that plural of Cat is Cats,
plural of House is Houses, plural of
Pen is Pens, in this manner student by
mistake made plural of Mouse as
Mouses. This is the example of which
type of transfer of learning ?

(1) Positive transfer
(2) Negative transfer
(3) Zero transfer

(4) Vertical transfer

Which of the following is objective
determinants of Attention ?

(1) Interest
(2) Habit
(3) Curiosity

(4) Duration of stimulus

Murray's "Thematic Apperception

Test" is related to which theory of
personality ?

(1) Trait theory

(2) Trait and Type theory
(3) Type theory

(4) Psychoanalytical theory

P.T.O.



[A] [10]

25. frfofed & § dH-1 ‘Tew wHRS 25.  Which of the following is 1.Q. Range of
Hedr Sl H e e SR © 7 'Moderate mental retarded' children ?
(1) 52 9 67 (1) 52to 67
(2) 36 ¥ 51 (2) 36to 51
(3) 20 ¥ 35 (3) 20to 35
(4) 20 | 1 (4) below 20

26. Mg § & HF-@1 EaR &} 26. Which of the following is not the
Ci i GG IR %ﬁ Sae Al B type of life styles for the
TER & e ? development of personality given by

Adler ?

(1) STaEl 2=y (1) Lazy type
(2) STEHE TERY (2) Ruling type
(3) fcrepeHl ey (3) Go-getting type
(4) TEHK b ST A (4) Escaping type

27. AN WME g qOE©r § fhaA #E 27. How many cards are used in
ST & forg o § 7 Rorschach Inkblot Test ?
(1) 10 (2) 12 (1) 10 2) 12
(3) 15 (4) 28 3) 15 4) 28

28. frefafad & @ M- Tl Hgie 28. Which of the following is not a type
4 =N SN e T eAfRE @

of Personality given by Sprenger in

JHR TET 8 values point of view ?
(1) i (1) Theoretical

(2) oTRf® (2) Economic

(3) FAHD (3) Asthetic

(4) GerwE (4) Athletic

Level-3/9209



29.

30.

freifefeg & @ ®9-a1 9FeEs 3™
yed ARFT & Mor/TeEE ET § ?

(1) deqxar & fam
(2) 1rE &1 fEH
(3) A& gi &1 |
(4) ueE &l |

frfafag & @ H9-91 fhaEen &
el fadwar 788 ?

(1) fepamaeen EIIEEI] AR
TIEHEE & S @ qRadt sTawer
2l

(2) fpiaer § wh owue Juf®
feafy &t 1

(3) fReiNae JoHEET @ SEw
B B

(4) ThNae gl B 9
BT Bl

[11]

29.

30.

[A]

Which of the following is the
subordinate law of learning given by
Thorndike ?

(1) Law of readiness
(2) Law of exercise

(3) Law of mental set

(4) Law of effect

Which of the following is not the
true characteristic of Adolescence ?

(1) Adolescence is transitional stage
between childhood

adulthood.

and

(2) In adolescence there is a vague
individual status.

(3) Adolescence is the threshold of
adulthood.

(4) Adolescence is a time of realism.

Level-3/9209

P.T.O.



[A] [12]
ART- 11/ PART -1
A1 (R= ©F 3fISH) / LANGUAGES (HINDI & ENGLISH)
[ &=/ HINDI ]
3T : R g7 % a7 &7 & [ qag ST [wey g

31. foare® @M g a9 iy 35. Fr=1 ¥ @ ‘9 H w@E 78 & ?

(1) a9 o< oT¥s  Jad & (1) gdaH (2) Brl

Eﬂtﬁ %l (3) T 4) @—a
(2) TED T & T S - ,
o 5 ot 36. Slfcrareh Hel YeRd AR 7@ ©

(3) ST T 3 G'TQ' (1) STeThet &1 TeTgdl 9gd e &

(4) 39 gV T T (2) SOl A E A wEar & O
32. i gie & orger fsed T - BT

| 3) FW-F A & SrEEA

(2) AT STt 2

) (4) H orgwa fpr B 65 o8 SR @

ORI <X T B

@ 37. fd faseq # oM &Y &1 W 787
33, feim a1 gfe & o A A g ® 7

Bifex (1) s (2) arieR

(1) SS-=reT (3) e 4) e

(2) ATH-IFHEA

(3) TR 38. & A B AT HIOT :

(4) TehR-FaER (1) T& FM Fis Jhid d & B el

gl

34.2;:;1@5?‘36’%%9@1%? ©) ¥ T e B

(1) o ©2) TR (3) YA SEET &8 B H HFA B

(3) BT (4) Sfed 4) & & & A g B

Level-3/9209




[13] [A]

39. 9N F 3fc q oG fabed Bifey 43. fpa faseq & srerdivE w99 ® °
(1) FI¥T - BT TgE (1) ferdiesr
(2) Ho-TEHN - H9ER &4 (2) FANGEF
(3) FmIE - STURM qgeT (3) sTqERar
(4)F‘|Ti-r|ﬁ_zb_l§|EREF‘;lsr (4)@'@:{
40.WQT%WQEFQE3€[§WQ i & 7 IR :
P o 44. TTF % I @ FFGIT g+
(1) ToT + 3% = TERYS
(1) TREl %1 & =TI oW el g .- .
TEA HAT - A<TH (2) I + 3% =
(2) FEEHR T ST AT S ©) e
e (4) TR + 9 = utE"
(3) fom fobell ey & - ST 45. T fobew & ‘o IUEE BN IENT gOT
(4) T8 o9 R @ § - i &7
, S (1) e
41. ANREd GEAEES :
, (2) g
() fBd ad & gam d 3@ SR
e 7 g (3) s
(2) Gt & dhrgr-a T9F e (4) ST

(3) R %M Jo & FHIA B
(4) GR 3T SAHATE B I T B

42. THHE fhAT gHT a9 AT
(1) FrEmr q4kT % 9’ e © 4
(2) wBfeEr aeme § 4T @ 2
(3) o1E% HSH W 2T T© o

OEGEE FERECERICSIE

Level-3/9209 P.T.O.



[A]

46.

47.

48.

[14]
[ 3135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of sentence that is 49. Fill in the blank with the correct
grammatically incorrect : present perfect continuous tense :
That's twice I've been forgetting to Who ...... was coming to see me
bring my diary to work this week. this morning ?
(1) That's twice (1) you should say
(2) I've been forgetting (2) did you say
3 did said
(3) to bring my diary (3) you did sai
i (4) did you say that
(4) to work this week
o ) 50. Fill in the blank with the correct
Fill in the blank with the correct f . )
fon - present perfect continuous tense :
OpHon - . He ......... for five hours.
Of the two Novels, this is ............. . (1) been slept
(1) interesting (2) is sleeping
(2) more interesting (3) been sleeping
(3) interested (4) has been sleeping
(4) much interesting .
51. Fill in the blanks :
Change the narration : The growing number of visitors
He said, "I've been spending a lot | = the footpaths.
more time with my children." (1) are damaging (2) is damaging
(1) He told me that he had been (3) were damage (4) was damaged
spending a lot more time with o )
52. Fill in the blank with the correct

his children.

(2) He told me that he is spending a
lot more time with my children.

(3) He told me that he had spent a
lot more time with his children.

(4) He said that he spends a lot more
time with his children.

Level-3/9209

present perfect continuous tense :
She is one of the few people ........ .
(1) who I look up to

(2) whose I look up

(3) T'look up to

(4) Both (1) and (3)



53.

54.

55.

56.

Choose the option and arrange the
following sentence in the correct
order :

I.  Resigned

II. To sack him

III. Had he not

IV. We would have been forced

(H IV, 1ILILT (2) ILIL LIV
3 IV, ILLII 4) IOLLIV,II

Change the sentence into passive :
Someone has picked my pocket.

(1) My pocket is picked.

(2) Somebody picked my pocket.
(3) My pocket pick by somebody.
(4) My pocket has been picked.

Choose the grammatically correct

sentence :

(1) No reached the
station and the train arrived.

sooner Wwe

(2) No sooner did we reach the
station than the train arrived.
(3) No sooner did we reach the
station then the train arrived.
(4) No sooner did we reach the

station the train arrived.

Fill in the blank with the correct
option :

............ , they slept soundly.

(1) Hot though was the night air

(2) Hot though the night air was

[15]

57.

58.

59.

60.

[A]

Fill in the blank with the correct
present perfect continuous tense :

thinks that Julie should be
given the job.

(1) neither of us

(2) practically everyone
(3) A no. of people

(4) both (1) and (2)

To have 'a bee in the bonnet' means :
(1) to know perfectly

(2) something you are obsessed with
(3) not to take anything seriously
(4) to deviate from the point

Choose the part of sentence that is

grammatically incorrect :

The world's supply of oil is soon
running out.

(1) The world's
(2) supply of oil
(3) 1s soon running out

(4) both (1) and (2)

The word 'juncture' means :
(1) in a joyous manner

(2) to put in danger

(3) to sound harshly

(3) Hot was the night air that (4) point  rendered critical by
' t
(4) Hot although the night air was cireumstances
Level-3/9209 T 0.



[A]

[16]

HET -1/ PART -1l
Y 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT TRl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

Th HT AW H, 'DISTANCE' &
IDTATOEC' fwenr omar & &R
'DOCUMENT' & 'ODDMUFTN'
foren s 8, @ 3@ WM e A
'THURSDAY' &t ferar s :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA

(4) VIRUDSZB

FAA 10 HeX I H SR @@ ol
qel §, I8 RO B IR 6 Wex T
3l B @@ @ & oY 3 Hiex Fomm
3l T M JEART fg & Hew d
fre RRam & & 7

(1) gie=m

(2) afeor-uidem

(3) SUC-TE

(4) aferer

Level-3/9209

61.

62.

In a code language, 'DISTANCE' is

written as 'IDTATOEC' and

'DOCUMENT' as
'ODDMUEFTN', then in same code
"THURSDAY' will be

1S written
language,

written as :

(1) HTRUDSYA
(2) HTVSREYA
(3) UHVSTEYA

(4) VIRUDSZB

Kamal walks 10 m towards North.
From there, he walks 6 m towards
south. Then he walks 3 m towards
East. In which direction is he with
reference to his starting point ?

(1) West

(2) South-West

(3) North-East

(4) South



63.

64.

65.

66.

67.

T ¥ ¥ U WA B oHEen ¥ 5%
P ghs & TNl T oW ay F ged
5% @ F & A 51 A TR aW B
oV ¥ SHEEnr 79,800 #ft, @ e
ay & M § Sae fhaAr o ?
(1) 79,800

(2) 80,200

(3) 80,000

4) 79,600

B R A (o e | I L
1CV, 5FU, 9IT, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

a1 I A B 2 0 3 % STgu A
amwa%ﬁﬁ?ﬁSﬂ%a%wﬁ
gl 3T Sl % HA YU ©
(1) 27:20 (2) 20:27

(3) 4:9 4) 9:4

Mg X 7 gHAt Y & W owE
“fgdt Y, B0 T & O A o
37 g X, 4 Y § e @R
et & °

(1)

(2) BT

(3) ufa

4) age

qul H HH S&d SN qT U a9
H TEH IR T B
'HEARTLESS' fa+ @a—= d1efe <
§ fofora fbam o g & °

(1 1 2) 2
3) 3 “4) 4

Level-3/9209

63.

64.

65.

66.

67.

[A]

In the first year, the population of a
village increased by 5% and in the
next year it decreased by 5%. If at the
end of the second year, the population
was 79,800, what was it at the
beginning of the first year ?

(1) 79,800

(2) 80,200

(3) 80,000

(4) 79,600

of the

Find the wrong terms

following series :

I1CV, 5FU, 9IT, 15LS, 170R
(1) SFU (2) 9IT
(3) 15LS (4) 170R

The radii of two cylinders are in the
ratio 2 : 3 and their heights are in the
ratio 5 : 3. The ratio of their volumes
are :

(1) 27:20
(3) 4:9

(2) 20:27
4) 9:4

Mr. X said about Mrs. Y, "Mrs. Y is
the wife of the grandson of my
mother." How is Mr. X is related to
Mrs. Y ?

(1) Father

(2) Grandfather

(3) Husband

(4) Father-in-law

How many independent meaningful
words can 'HEARTLESS' be divided
into without changing the order of the
letters and using each letter only once ?

(D 1 2) 2
3) 3 “4) 4

P.T.O.



[A]

68.

69.

70.

71.

72.

T qher #, 27% fErd ofen #
g AR 38% fase #

W, A 19% a9 fawdr o

g, @ 2T fawdt & Sl B AR ©

(1) 46% (2) 54%

(3) 62% 4) 81%

o1 deEr 9o $ o UE B
20,20, 19, 16, 17, 13, 14, 11, 2, 2
(1) 10, 10 2) 10,11

(3) 13,14 4) 10,9

T FARK g9 % fqudq e 7 13
fFlt X g @ fRew § 28 Rl A
I &Y B 9R 5 HS &H W Al
B U @ R e B ?

(1) 15 fpHt /g0er

(2) 2 fepHt /gver

(3) 2V4 fopHt /gver

(4) 3 fpHt /gver

I 9m 1 q 100 d% F W Ol
ferear B, @ a5 fhaet aX 3 e ® ?

(1) 19
3) 20

A, B3 ggrd s@s C X D, E @
REEAMCHTgA T & &R
C,BA g8 a = & & a4
HIT AETF W9 ¥ FT B ?

.

2) 11
4) 21

(1) A,C q 921 Bl
(2) C,D ¥ g1 2
(3) D,C q 921 Bl
(4) E,B ¥ g1 2

Level-3/9209

[18]

68.

69.

70.

71.

72.

In an examination, 27% students failed
in English and 38% failed in Science.
If 19% failed in both the subjects, then
the percentage of passed in both the
subjects is :
(1) 46%

(3) 62%

(2) 54%
4) 81%

Next terms of the following number
series are :

20,20, 19, 16, 17, 13, 14, 11, 2, ?
(1) 10, 10 ) 10, 11
(3) 13, 14 ) 10,9

A man rows upstream 13 km and
downstream 28 km taking 5 hours
each time. What is the speed of
water ?

(1) 1% km/hr
(2) 2 km/hr
(3) 2% km/hr
4) 3 km/hr

If Shyam writes down all the integers
from 1 to 100, then how many times
does he write 3 ?
(1) 19
(3) 20

2) 11
4) 21

A 1is elder to B while C and D are
elder to E. E lies between A and C
and C is elder to B, then which of the
following statements is necessarily
true ?

(1) AiseldertoC.
(2) Ciselderto D.
(3) Diselderto C.
(4) Eiselderto B.



73.

74.

75.

76.

M, T, R, K &R D & 7%

AT 2, M dad T q BieT

dad K @ o« 31 =9 9 dEq 999
?

1) T (2) D
3) M 4 R
b))
4 - 3 Lt S I U K
3 1
b))
4 3
2
11
(D) 25
1
(2) 25
11
(3) 3E
1
4) 3E
g Y g, U @ ooy SEh
&l # fo @t e ad g,
U &l g I T B Ag W 7
T e R & e oy
(1) 40 a9 (2) 30 a9
(3) 50 a9 (4) 4599

& A R Y R W I &
T I F V& ol SHB A
ufye feem & &R B SHH 94 B
fPa Ram A 2 ?
(1) SX
(3) uit=H

(2) aferor
4) g

Level-3/9209

73.

74.

75.

76.

[A]

Among M, T, R, K and D, each
having a different height, M is shorter
only from T and D is taller only from
K. Who will be the third tallest person
among them ?
T

3) M

(2) D
4) R

The square root of

is equal to :

11
1) 2—
ey )

1
) 3=

After 5 years, father's age will be
three times of his son's age. 5 years
ago, father's age was 7 times of his
son's age. The present age of the
father is :

(1) 40 years
(3) 50 years

(2) 30 years
(4) 45 years

A man is performing yoga with his
head down and legs up. His face is
towards the west. In which direction

will his left hand be ?
(1) North (2) South
(3) West (4) East

P.T.O.



[A]

77.

78.

79.

80.

(1) 15 o & T8
(2) 12 Mo & T
(3) 14 o & T
4) 16 Mo & T
10% daq¥s & X X TSame

THIRE A T 800 BWY P TH T
926.10 T fhas ag § a9 W ?

(1) 399 ) 1 ag

(3) 4% T8 4) 2 a9

8, 15 X 24 § fauig am am
FAH I eI IR B

(1) 120

(2) 1800

(3) 3600

(4) 6400

I 6 YT A f9hT gd, 8 Al & A

lﬁg%w%,a‘rwmﬁrqﬁm
qe:

(1) 25% a9
(2) 25% &

3) 33%%311%

() 33%%@1‘#

Level-3/9209

77.

78.

79.

80.

Two taps A and B would fill a tank
completely in 30 and 36 minutes
respectively. Both  taps being
opened, find when the tap A must be
turned off so that the tank must be
just filled in 18 minutes ?

(1) after 15 minutes
(2) after 12 minutes
(3) after 14 minutes
(4) after 16 minutes
In how many years will a sum of

Rs. 800 become Rs. 926.10 at 10% per
annum interest compound half yearly ?

(2) 1% years
(4) 2 years

(1) 3 years
(3) 4%z years
The least square number, which is
divisible by 8, 15 and 24 is equal to :
(1) 120

(2) 1800

(3) 3600

(4) 6400

If the selling price of 6 pens is equal

to the cost price of 8 pens, then
profit/loss in percentage is :

(1) 25% profit
(2) 25% loss

(3) 33 % % loss

4) 33 % % profit



81

82.

83.

84.

85.

. BWEEn % 9 Med 63 [
RN & A (STeE) B & 7

(1) foeprg e

(2) T G
(3) dio == 4

(4) o dlo THo THo UG
BRAT 3G FERH & U DA © 7

(1) M= R
(2) BYE S99
(3) T B

(4) T qM

gRam § I gHE # U HEl
arafed B 7

(1) ®BUEEE (2) QT

(3) &I (4) UeqH
HHTaT Tt § @l uew faoidr @l
BRATT TR S & 99 drll JEpd
i B :

(1) T &3

(2) & Fg

(3) TIEER A"

(4) ST g

1857 % fEle & RN Asasd @
foreedier @I o ?

(1) 99 e
(2) s=go &
(3) T=H A=
(4) BBET

Level-3/9209
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81.

82.

83.

84.

85.

[A]

Who is the Chairman of the newly
constituted  6th  State  Finance
Commission of Haryana ?

(1) Vikas Gupta

(2) Rajesh Khullar

(3) P. Raghvendra Rao

(4) T. V.S.N. Prasad

Who is the vice-chairman of Haryana
Urdu Academy ?

(1) Gopichand Narang

(2) Kumud Bansal

(3) Chander Trikha

(4) Suraj Bhan

Where is the palace of Begum Samru
located in Haryana ?

(1) Faridabad  (2) Sonipat

(3) Gurugram (4) Rohtak

The award is given by the Haryana
Government to the gold medal winner
in the Commonwealth games :

(1) Three crore

(2) Two crore

(3) Seventy Five lakh

(4) One & half crore

Who was the Collector of Rohtak
during the uprising of 1857 ?

(1) Thomas Semton

(2) W. Eden

(3) Adam Loch
(4) Hudson

P.T.O.



[A]

86

87.

88.

89.

90.

. §& T, S TR &l W ©

(1) AT

(2) st

(3) TeA

(4) F=1

feapt i@ eRaen & fpe R #
R B 7

(1) e

(2) daga

(3) B

(4) o

B fqerEe, S oStRsR 2019 &
I F 9IS AMed B T D

(1) 124t (2) 134t

(3) 144t (4) 15dt

(EREUIR AR e M M B e T i LS O
@R & GG o T B ?

(1) el s

(2) I e

(3) TSE M T I A

(4) A< Iae

fFg TeX & IR M Fe o ?

(1) Fe=T%
(2) STl
(3) o

(4) GF9q

[22]

86.

87.

88.

89.

90.

Rivulet, which is one of the tributary
of Ghaggar :

(1) Chautang
(2) Sahibi
(3) Dohan
(4) Indori

In which district of Haryana "Tikkar
lake' is located ?

(1) Rohtak
(2) Panchkula
(3) Karnal
(4) Kaithal

The assembly of Haryana, which has
been constituted after the election of
October, 2019 :

(1) 12%
(3) 14"

(2) 13"

4) 15"

Vinesh Phogat is recently honoured
with which National Award ?

(1) Dronacharya Award

(2) Arjuna Award

(3) Rajiv Gandhi Khel Ratna Award
(4) Dhyanchand Award

Which city has its ancient name as
Kanaud ?

(1) Mahendragarh
(2) Ambala
(3) Kaithal
(4) Sonipat

Level-3/9209



[23]

[A]

AT - IV / PART - IV
TN / GEOGRAPHY

3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

91. FHfofad & ¥ aH-T1 & wWm<

92.

93.

I & B 7

(1) &1 %’

(2) T

(3) FYX

(4) gl

gl & dag d S 9 ug IE &l
He HAE B ¢

(1) T 36,000 fpHt

(2) TR 970 et

(3) T 20,200 fepHt

(4) T 30,200 fepHt

Frficied @ werghiis w9 |
AR HY

Level-3/9209

91.

92.

93.

Which one of the following is not a

foot-loose industry ?

(1) Diamond Cutting
(2) Hightech
(3) Computer Chip

(4) Alluminium

The Orbital height of GPS satellites
from the earth's surface is
approximatelly :

(1) 36,000 km
(2) 970 km

(3) 20,200 km
(4) 30,200 km

Arrange the
chronological order :

following in

(a) Australopithecus
(b) Homo Erectus
(c) Homo Sapiens
Code :

(1) (a), (b), (c)

(2) (@), (c), (b)

(3) (b), (a), (c)

4) (b), (c), (a)

P.T.O.



[A] [24]

94. El%lgg{q 9 dlecd T g UKHE 94. The National Waterway which stretches

SR © from Kottapuram to Kollam is :
(1) To To 4 (1) NW 4
(2) o o 3 (2) NW 3
(3) o o 2 (3) NW 2
(4) o Fo 5 (4) NW5
95. ‘WM I STEUME YAl qU T 95. "Human Geography is a study of the
q9d % JREN® gRaaHend et changing relationship between the
T HAIT &7 B Al - unresting man and the unstable

earth" was stated by :

(1) Brunhes

(1) ST &
(2) Tho & H (2) F. Ratzel
(3) = H (3) Blache
(4) 2o Hio J=A H (4) E. C. Semple
96. TEI® R HeMNE 4% 8y ¢ : 96. The Most widespread  Ooze
deposites in Oceans are :
(1) TSR (1) Globigerina
(2) eEFH (2) Diatom
(3) 9= (3) Pteropod
(4) AeAaRaT (4) Radiolarian

Level-3/9209



97.

98.

99.

g § = & ¥ 59 R & 9
BT SAfeay & fifeg 2ar & ?

(1) &%
(2) qEE

(3) At ol Tagy (TgEa)
(4) & q91 A

REECIICETACE L M B | S A L
B B -

(1) 66 BT

(2) 33 %l

(3) 30 Wl

(4) 50 ®ie

T e & T | B-ar a8l
g7 AR R W g @ IEM w
el IO AN qG9 P

(&) 28T 1 A G () B B

(9) o8 guaed o8l W& A gEA
arit Fredt B

(|) som dwg WM (Qee) e

Level-3/9209

[25]

97.

98.

99.

[A]

In India, which of the following

means of  irrigation, irrigates

maximum area ?

(1) Canals

(2) Tanks

(3) Wells and Tubewells
(4) Canal and Tanks

The standard length of a Revenue
chain is :

(1) 66 Feet

(2) 33 Feet

(3) 30 Feet

(4) 50 Feet

Which is correct about "Terra rossa"
soil ? Select the correct answer using

the code given below :

(a) Itis reddish in colour.

(b) Itis a well drained soil.

(c) Its pH is neutral.

Code :

(1) Only (a) and (b) are correct.

(2) Only (a) and (c) are correct.

(3) Only (b) and (c) are correct.

(4) (a), (b) and (c) are correct.
P.T.O.



[A]

100. @I 1 GEI-I1 & BRI < aqen |
Ru MU ge & I T 78T I A

TG99 B
Q@ -1 Q@ -1
(o) o AT () WM R=
TR
(3) Foam a7 (i) SQ-Red
SThIH! T
(|) dseR g/ (i) SR
afediicsh
TR
(3) HG a1 (iv) I STeied
TR
% -
(@) @ @ &
(H Gy @ @) @v)
(2) (i) @) @ av)

3) @
@ @)

(i) Gv) (i)
(i) (i) (Qv)

Level-3/9209

[26]

100. Match List — I with List — IT and
select the correct answer using the

codes given below :

List -1 List — 11

(a) Agulhas (1) South Indian

Current Ocean

(b) Benguela (i1) North West

Current African
Coast
(c) Labrador (i11) South
Current Atlantic
Ocean
(d) Canary (iv) North
Current Atlantic
Ocean
Code :
@ @b (© @@
(h ) @@ (i) (@1v)
(2) () @) @ (>1v)
3 » @G 3Gv) (@)
@ » @) 3Gy 3Gv)



101.

102.

gl @ MNIRe <= & R H
%ﬁﬂﬁrﬁﬁa T q A oY
?

(1) TSR SR fEem g 3

(2) gt & B Faw W dAe
o 21

(3) g H U ARHiewT: HREE
a ffia =

(4) 9= 1 SAYHARX AW Heq B

Preffes gieREel B @ @

‘JeegaEr’ o ?

(1) e

(2) &=

(3) ReX

(4) < s

Level-3/9209

[27]

101.

102.

[A]

Which one of the following
statement is rot correct about Earth's
interior ?

(1) Asthenosphere is  partially

molten.

(2) The core of the Earth is made of

nickel and ferrous.

(3) The Earth's crust is mostly made

of magnesium.

(4) Most part of the Earth is mantle.

Which

Geographers was a "Teleologist" ?

among the following

(1) Guyot

(2) Humboldt

(3) Ritter

(4) La Blache

P.T.O.



[A]

103.

104.

BT o i o o
T FY

gl -1 @l - 10

qad 9K qad (9RA)
(o) afera () ) e
(3) orafime (i) feamra
(®) vememgE (i) e
(7) demeer (iv) ST
%< -

@ @ @ @
(1) Gv) @) @) (i)
(2) ) (@ @) 1)
(3) () (@) @Gv) (@
4) () @Gv) @) @

IRd & =g T § 9 @e-a1
ARA-HR G ) SFaRad 78 2 7

(1) STEUEA Jasl
(2) FeiRH

(3) AMMS

(4) By

Level-3/9209

[28]

103.

104.

Match List — I with List — II and
select the correct answer using the
code given below :

List — 1 List —1I
Mountain Type Mountains
(India)

(a) Folded (New) (1) Sahayadri

(b) Residual (i1)) Himalaya

(c) Volcanic (1i1) Rajmahal
Hills
(d) Block (iv) Aravalli
Code :
(@ () (© (@)
() Gv) G (@) (i)
2 @) @ 3>i) @Gv)
(3) () @) Gv) (@)
@ () @Gv) @) (@)

Which of the following states of
India 1s mot located at Indian-

Myanmar border ?

(1) Arunachal Pradesh
(2) Mizoram

(3) Nagaland

(4) Tripura



105.

106.

107.

‘e NG’ TR Foelfeed ©

(1) 70 @ 80 &% % H foremmd)
A & TEFAR 9

(2) AR AN B R

3) il T IRl |

(4) ‘M W WFEFT 9

I

g A BT
HHeq ! & AJEAR A geid W
NITCZ e & S & ¢

(1) 30° I e b

(2) 45° I rEiel d

(3) 15° I8 rEielt

(4) 30° aferfl srerisl d

CR' = H Tl T &9 3
(1) e e TR freeH
(2) R TR e i

(3) WA T SEIRM I
(4) I3 fsem™ ws IR

Level-3/9209

[29]

105.

106.

107.

[A]

'Boat People' migration is related
with :

(1) Migration of Vietnames peoples

in late 70s and 80s decade
(2) Migration of Maxican peoples
(3) Brain drain migration

(4) 'Gold rush' migration

As per the 'Dynamic Concept' of
origin of India monsoon, at summer
solistice the NITCZ is extended up
to :

(1) 30° N Latitudes
(2) 45° N Latitudes
(3) 15° N Latitudes

(4) 30° S Latitudes

The correct full form of 'Radar’ is :

(1) Radio Detection Aperture
System

(2) Real Aperture Detection
Ranging

(3) Radio and Direction Ranging
(4) Radio Detection and Ranging

P.T.O.



[A] [30]
108. ‘qre fy’ wrdrpios e & 108. 'Pat Lands' is a Landform

characteristic of :

(1) Bangar Region

(1) TR ¥=sT &l
(2) Bhabhar Region
(2) X SR &l
(3) Chota Nagpur Plateau
3) Bl YT TR i
© (4) Deccan Trap
(4) TFBT ST Bl

109. B2 & Tl & AR ‘el 109. As per Heyden's classification, the

qHd ST 3 9|1 6 B e & ¢ hair Index of 'Leiotrichi' Human race
1S :
(1) 20 to 40

(1) 209 40
(2) 40to 60

(2) 409 60
(3) 60to 70

(3) 609 70 |
(4) Approximately 80

(4) TTHT 80

110. 1 3 off wHRE’ faefda gu & : 110. The 'T in O Map' was developed

during the :

(1) I BT B A (1) Roman Period
(2) Greek Period

(2) q% FT F A
(3) Dark Age

(3) 39 FT % IR

(4) Arabia Period
(4) T HT B A

Level-3/9209



111.

112.

IR 96 &9 & ¢
(1) STeer faay

(2) =1 AreEt § aui & R
(3) TRl ST B I

4) T 9@ ¥ IW B HIE aA
& BT &S

frfiaa ®o=i @ U0 BT qer
A R T g H IWE HA W
el ST B II9 BX -

(37) IRT T SO Siw SFEE
Fadt 10 ST 8t 7 Habfead sl

(9) 9RA @ T e g S
P TR 30.20 S B

(|) AT @ 75 URieM & S A
SHEEen YgH 9o % TR OH
GhiEd B

% -

(1) (%), (3) 7@ (|) @& 2
(2) Fad (31) W B

(3) (%) T (|) @ B
4) (3) T (|) @@ 2

Level-3/9209

[31]

111.

112.

[A]
Altimetric Frequency curve depicts :
(1) Population distribution

(2) Rainfall distribution in different
weathers

(3) Relief of Oceanic Besin

(4) Representation of Altitudes of
Areas from sea level

Examine the following statements
and select the correct answer using

the code given below :

(a) About 50 percent of Indian
population is concentrated in
only 10 percent of the area.

(b) The urban population of India is
about 30.20 percent of total

population.

©

India's more than 75 percent of

the  urban  population is
concentrated in the class one
cities.

Code :

(1) (a), (b) and (c) are correct.
(2) Only (a) is correct.

(3) (a)and (c) are correct.
(4) (b) and (c) are correct.

P.T.O.



[A]

113.

114.

115.

T HAeT = B GAIH TN
fepam -

(1) TafeM ¥ )

(2) qudcidl B

(3) dlo Haiaw R

(4) THo ATy &

A A W O REd wR
P ©

(1) fem imed

(2) g4 9

(3) AR gRaw

(4) 8 &R

frefafad # @ e @@ =
P oA FX TR |

(1) %t 3T &
(2) TS |
(3) @M 9

(4) BT 9

Level-3/9209

[32]

113.

114.

115.

'Remote Sensing' word was firstly

coined by :

(1) Evelyn Pruitt
(2) Sentolessi
(3) B. Melvil

(4) M. Griffith

O

On a weather map
represents :

symbol

(1) Snow storm

(2) Sunshine

(3) Solar Halo

(4) Solar Corona

From the following the Karst
Landscape 'Hums' can be matched

with :

(1) Coulee Lake
(2) Inselberge
(3) Barkhan

(4) Hamada



116.

117.

118.

el @ & gued BW 4 i
T FHeanl © ¢

OR

(2) &R

(3) T®

(4) SERIE! HLeH

T & SAAdg FNHCT B ATEAR
Wﬁﬁaﬁﬁ-wgﬁmaﬁ
?

Sarg 9N R
() Cfb - uiveEl @ agel
(2) Csa L
3) Aw  — 9] FHieSHg FqAM

(4) Dfa - g% TEENE

T S B ‘TiYE e [ ™
qr

(1) TRYS & &R
(2) B & &N
(3) S¥EE ® &}

(4) B & &

Level-3/9209

[33]

116.

117.

118.

[A]

The Rock formed
accumulation of volcanic
called :

through
ash is

(1) Sill

(2) Scoria

(3) Tuff

(4) Volcanic rock

As per koeppen's climatic
classification which one of the
following is not correctly matched ?

Climate Type  Region
(1) Cfb —  Marine west coastal
(2) Csa  — Mediterranean
3) Aw —  Tropical Savanna
(4) Dfa —  Dry Continental

The 'Bergschrund Theory' of cirque
formation was given by :

(1) Garwood

(2) Hobbs

(3) Johnson

(4) Strahler

P.T.O.



[A]

119.

120.

121.

TEAT I fhE TR § @Y SR ST
g7

(1) 999 T& gag agair ®

(2) ANITEHR |

(3) REE/E9 g W

(4) FHEE T QR )

gL TET H IR fHAT o

(1) HETE TEaX 3
(2) e a9 3

(3) Sflo THo = 4
(4) Sto dlo eIl A

Fretfeied 1 gafed w1 @R A Ry
T e %l TeFdl 4 & I & =T
T

(1) s A=Y Q) 23%03%1111

(@) oFisfm (i) 0° qeMeR
fafer T

(|) 7T @ (i) 180° JeMeR

%< -
(®) @ @

(1) i) Gy @)

(2) (i) @ @)

(3) () (@) (@

4 () (@ (i)
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[34]

119.

120.

121.

In which phase of moon the 'Neap
Tide' occur's ?

(1) First and Third Quarter

(2) Crescent

(3) Gibbous

(4) New moon and Full moon

Polyconic projection was invented
by :

(1) Ferdinand Hassler

(2) Rigbert bonne

(3) G. S. Bachhan

(4) J. V. Nicolci

Match the following and select the
correct answer using the code given
below :

(a) Prime 1) 23 % o South

Meridian

(b) International (ii) 0° Longitude

date line

(c) Tropic of (iii) 180° Longitude
Capricorn

Code :
@ (b (©

(D i) G @

(2) i) @) (>

(3) ) aGi) @)

@ Gy @@ (1)



122. @E o« ¥ fade qdar< a@r @ :

(1) BIETH e
(2) FiiREE FEe
(3) AfeTw FAES
(4) NeRrM T

123. oo @ WRAE B g
BT & AR a7 qia= & T :

(1) AeIRa=

(2) Helges qiRa=
(3) A&7 qIRa=
(4) g& qiRe=

124. s, @1 q0 I 98 ©

(1) YW Sl &
(2) Tot gy &
(3) TR ey %
(4) TR ST H
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[A]

122. The Second most prevalent salt in

123.

124,

sea water 1s :

(1) Calcium Sulphate
(2) Magnesium Chloride
(3) Sodium Chloride

(4) Potassium Sulphate

As per Hierarchial classification of

Ecosystem by Ellenberg,

ecosystemis a:

(1) Macro ecosystem
(2) Mega ecosystem
(3) Meso ecosystem

(4) Micro ecosystem

forest

Mabuti, Twa and Batswa belong to

which racial group ?
(1) Bushmans

(2) Pygmies

(3) Eskimos

(4) Sakais

P.T.O.



[A]

125.

126.

fgeg  SwEenm fGaw, 2015 @
Fr=ifataa & | dH-d v agg 8 ?

(1) SATUIGRI F AR STHae

(2) SV W@ fare @l
A T
(3) drEgE THiER WA

(4) SVEET #H YgR W RS @
D

?ﬂﬁ«mﬁﬁﬁzﬁﬁmgﬁmaﬁ
?

(1) = A A2ed — g

(2) g T de@ — oR™ e
B_Q'a:f

(3) U Hisd — el

@) Hfe qHERX FEm — Sfo Fo Nw
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125. Which one of the following is the

126.

theme for World Population
Day, 2015 ?
(1) Vulnerable  populations  in

emergency

(2) Universal access to reproductive

health services

(3) Focus is on  Adolescent

pregnancy

(4) A time to reflect on population

trends

Which one of the following is not
correctly matched ?

(1) Concentric Zone — Burgess
Model

(2) Multi Nuclei — Harris &
Model Ullman

(3) Sectoral Model — Colby

(4) Rank size Rule - G. K. Zipf



127. F=fofed & § @991 &9 o9

128.

g7

(1) ol TFEIdE AR daa SAfhas
Tgeml § MiET R

(2) YN W9 @ S | Hed
g

(3) 9RA & TEIAH TN SAfhaT
e & Trad ol

(4) BRI w BEI AR STfhdd
Tcerl | Ra B

Preffas § @ @ giRE 7@
37

(1) 99a TRfefm - SO

(2) sfem &1 drfas - Afkvst
AL

(3) &H X SRl — So I
[RECPEIH

(4) JggaR — o A
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[37]

127. Which

128.

[A]

one of the following

statements is not correct ?

(1) The entire peninsular India is

made of only Archaean Rocks.

(2) The Peninsular gneiss is known

as Bengal gneiss.

(3) The oldest rocks in India belong

to the Archaean group.

(4) The central part of Himalayas

are made of Archaean rocks.

Which one of the following is not

correctly matched ?

(1) Human Ecology - Barrows

(2) Geographical — Mackinder
Pivot of History

(3) Stop and Go - G. Taylor
Determinism

(4) Probabilism — La Blache

P.T.O.



[A]

129.

130.

131.

Frefafad & & @F-|1 SHoa @38
qrd & A yonfa & ufat~ie s
g7

(1) fesiell T San

(2) QT T&T gosT

(3) HUq T F&

(4) ST qAT SETST

Preffas § @ @A giRE 7@
27

gl (snfe) Srafafa
(1) s1id — A
(2) I — 9 wd R
(3) ™ - IAUETE
(4) SER — iRy

TR qFRS & YR &g e A
q e &y &1 SwEM 787 R S
g 7

(1) = fafx

(2) gwey FBrge fafy
(3) &1 e faf
(4) forg wiHmrex
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129.

130.

131.

Which of the following Tribal group

represents the Negrito race in India ?

(1) Sentineles and Jarawa
(2) Santhal and Munda
(3) Ooranv and Kurumba

(4) Toda and Bagda

Which one of the following is not

correctly matched ?

Vally (Vallies) Location

(1) Silent - Kerala

(2) Nubra - Jammu and
Kashmir

(3) Milam - Uttarakhand

(4) Johar - Sikkim

Which one of the following methods
is not used for the reduction of a

cadastral map ?

(1) Square Method

(2) Similar Triangle Method
(3) Camera Lucida Method

(4) Dot Planimeter



132.

133.

134.

frfofag & @ @941 @ &
Aicres <k Hisd d eied 78 & °

(1) SN & 99 &

(2) ©PeET WS, WHE ae
TR HT UfAhT &

(3) U
(4) HHei®

A e &l FAND G TRBedl
e el & el e W
R 3 ?

(1) ST qar SIshisT

oo

NIENES

(2) BT qu

(3) I°C TN AT

(4) o

‘P BT S ©

(1) STQ GFR SR Tiices TR A
(2) AT AR AR @@ 9K &

(3) difve® AR AR A R &

(4) ITH FFR AR FHI GER P
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132.

133.

134.

[A]

Which one of the following is not

associated with Davis model of

Geographical cycle ?
(1) Slow rate of upliftment

(2) Landforms are the result of

structure, process and time
(3) Peneplain

(4) Monadnock

The Interstellar Dust Hypothesis of
Otto Schmidt is based on the earlier

views of which scientists ?
(1) Jeans and Jeffreys

(2) Hoyle and Lyttleton
(3) Kant and Laplace

(4) Russel

The 'Kiel Canal' connects :

(1) North Sea and Baltic Sea

(2) Black Sea and Red Sea

(3) Baltic Sea and Red Sea

(4) North Sea and Black Sea

P.T.O.



[A]

135.

136.

-1 B G-I E H T A
TG B
gl -1 @l - 11
(af) (Ravsra)
(37) SterET () s &
(affezforan)
(%) e orEes (i) dor
(atfezferan)
(|) Frebat (iti) HTo Megaad
(effesferam)
(z) e wd S (iv) deaa
(atfezferan)
& -
(®) @ @ @

(D) Gv) @) () @)
() Gy @G @Gv) @)
3 @ @G) (i) @[v)
@ () (@) @ @Gv)

2011 & ST & AR 7 F 9§
e o § AR FE-wed
g B9 o ?

(1) o= JesT

(2) AR
(3) BTG

(4) g
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135.

136.

Match List — I with List — II and
select the correct answer using the
code given below :

List -1
(Mineral)

List — 11
(Country/Region)

(1) Broken Hill
(Australia)

(a) Bauxite

(b) Iron ore (ii) Weipa (Australia)

(¢) Nickel (iii) Mt. Goldsworthy

(Australia)

(d) Lead and (iv) Greenvale
Zinc (Australia)

Code :

(@ (b
(1) Gv) (iD)
(2 ) @G aGv) @)
3 ® G @) (v)
@ ) @G G 3Gv)

(© (@
@) (@)

Which among the following state

witnessed lowest female work
participation rate as per 2011
census ?

(1) Himachal Pradesh
(2) Manipur
(3) Chhatisgarh

(4) Punjab



137.

138.

‘Feg oIy’ Mefag § 9 fRg
qigeTd 98§ geafeed B 7

(1) gdr 3= argee
(2) g
(3) JUIST = argerE

(4) I I= qgEd

fr=ifoifeg & @ f-a1 fdsT hamt
& AT TE FE 8 7

(1) Th Tl Jadl deh qEarEr as

(2) AReR HreH
(3) HEUAT TqAT ST FFAT

(4) HY TEId qHeE @
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137.

138.

[A]

'Horse Latitudes' are associated with
which of the following pressure

belts ?

(1) Polar high pressure

(2) Doldrum

(3) Sub tropical low pressure

(4) Sub tropical high pressure

Which one of the following is not

the general characteristics  of

temperate cyclones ?

(1) Torrential rainfall for a long

period

(2) Unsettled weather

(3) Fogginess and poor visibility

(4) More or Less elongated isobars

P.T.O.



[A]

139.

140.

frfiad ®o=i @ T BT qer
A R T fHT H IWT HA G
el ST B II9 BX -

(1) @t ot PR & aeEER 29
2|

(@) 9| ReR 3R e @
S 29 el Fean sl

(7) ferart Aol @ Sied
oA e 10 fef & &

% -

(1) (31), (@) T (9) @@ 2
(2) (1) T (|) w2t 2

(3) Baa (o1) T B

(4) (&) T (F) @@ 2

X BRE qT 9T & T G g
T HH-A 7 S'd B 7

(1) 99
(2)
(3) W&

4) 39
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139.

140.

Examine the following statements
and select the correct answer using

the code given below :

(a) Atolls are ring-shaped islands of

coral reefs.

(b) A flat topped submerged
volcanic island 1s known as
'Guyot'.

(c) The average in oceans gradient
of continental slop is about 10

degrees.
Code :
(1) (a), (b) and (c) are correct.
(2) (a) and (c) are correct.
(3) only (a) is correct.

(4) (a) and (b) are correct.

Which river flows between Black

Forest and Vosges in a rift valley ?
(1) Seine

(2) Rhone

(3) Rhine

(4) Danube



141.

142.

143.

Frfefead & @ se-a1 “AamieE @9
e § ofafted & ?

(1) 9 R gia
(2) wiske &9
(3) TE 21
(4) % &9

Preffas § @ @A giReE 7@
27

&M CELI]
(1) g3 T g 9o - T, W
2) 3= Fledda —  GEEN,

A S|
(3) #eg ownidE P - ASigs,

A g2
(4) T FHeEdF g — =AU qHT
s IE

HRANTT s T 36D JHE & qo+g
ﬁﬁw%@ﬁ% § 4 BF-91 YT Gl
7 77

(1) 3% gai | I8 A A &l
(2) T YAl % O @ IO B

(3) gal # fqETer gat & e st
Il S 2

(4) T Mo H A e ar
AR fEfe & S E
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141.

142.

143.

[A]

Which one of the following is

located in "Melanesian Islands" ?
(1) New Guinea Island

(2) Marshall Island

(3) Hawaii Island

(4) Cook Island

Which one of the following is not

matched correctly ?

Biome Vegetation

(1) Needleleaf — Spruce, Fir
Conifers

(2) Tropical — Teak, Sal
Monsoon

(3) Mid Latitude — Rosewood,
Mixed Ironwood

(4) Tropical — Trees with
Savanna flattened crowns

Which among the following is not a
correct statement about coriolis force
and its impacts ?

(1) TItis zero right at poles.
(2) Itis aresult of earth's rotation.

(3) The amount of deflection in
winds is closer to the poles.
its in

(4) Air deflects to

northern hemisphere.

right

P.T.O.



[A]

144.

145.

146.

A% HYETHS HIUH 3 ¥ = 1 W B,
ar Freus Rre/vesie B 3
(1) 1:63,360
(2) 1:1,90,080
(3) 1:21,120
(4) 1:31,680
‘i @R’ (Sea of Tranquility)
R ©
(1) 59 W
(2) TEA W
(3) ge@id W
(4) SToCEH T
gell-1 & gEll-11 § e & e e
Ru U Ze # IWEN FX 7o ST H
T Y
gl -1 @l - 10
qaq ™

(1) fesishia () B B
(3) omiihe (i) 9= fm
(|) SrfeEeE (i) g5 S
(3) 7 (iv) TeBfesT Ao

@) @ @ @
(D () @) @ @v)
(2) ) @  Gv) )
(3) a @ ) (@Gv)
4) i @) @ @)
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144.

145.

146.

If the statement of scale is 3 inch = 1
mile, the Representative Fraction
(R.F.) will be :

(1) 1:63,360
(2) 1:1,90,080
(3) 1:21,120
@) 1:31,680

"Sea of Tranquility" is situated at :

(1) Mars

(2) Moon

(3) Jupiter

(4) Antarctica

Match List — I with List — II and

select the correct answer using the
code given below :

List -1 List - II
Projection Property
(a) Azimuthal (1) Correct
Shape
(b) Orthomorphic (i) True
Bearing

(c) Homolographic (ii1) Equal Area

(d) Mercator (iv) Rhumb
Line
Code :
@ (b © @
(D @) G @ @)
(2) (@) @  Gv) (D)
(3) a @ )  @v)
4) i) G @O @v)



147.

148.

Ug WY g ®

(1) SBhIST & T Hopee T |

(2) Sql & TelaNY ol MEr 9
(3) Sifel & Aerampaar S 9

(4) B & GARFT s

frefofad wuei &1 e & T
A R T fHT H IWT HA G
el A B T B

(31) Bicwe et 1 T &l B Bl

(9) =% Seifcry #1 9@ IEFH B B

(|) I=e o WaEe Afhe T
g

% -

(1) Faa (o) & B

(2) (o1) T (&) @@t 2
(3) Faa (I) & =

(4) (a1), () T (4) @@t 2
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147.

148.

[A]
Term 'Zwischengebirge' is associated
with :

(1) Thermal contraction theory of

Jeffrey
(2) Daly's sliding continental theory
(3) Radioactivity theory of Joly

(4) Kober's Geosynclinal Orogen

theory

Examine the following statements
and select the correct answer using

code given below :
(a) Felsic rocks are light in colour.

(b) A Batholith has

bottom.

observable

(c) Granite and Rhyolite are Mafic

rocks.
Code :
(1) Only (a) is correct.
(2) (a) and (c) are correct.
(3) Only (b) is correct.

(4) (a), (b) and (c) are correct.

P.T.O.



[A] [46]

149. GEA aRar @Edl & 149. Aleutian and Mariana trenches are

g B ¢ formed along with :
(1) AN e PR & @8R (1) Divergent Plate Boundaries
(2) AREN e MR & "8 (2) Convergent Plate Boundaries
(3) TFBM €9 e R & JeRr (3) Transform Fault Plate
Boundaries
. 4) Conservative Plate Boundaries
(4) T @ PR B W () Conservativ "
150. Ug g:@%ﬁ [SKIEAR P qEI T 150. A rejuvenated topography is
. characterized by :
(37) T AfeeTa
(a) River terraces
(3) orer: Hica fored

(b) Incised Meanders

(|) HxamTs e
(c) Structural benches

(%) Frn-mee (d) Knick-Points

%< - Code :

(1) (&), (@). (@) 7 (3) (1) (@), (b). (c) and (d)
@) (&), (@ (@) (2) (a), (b)and (d)

3) (3). (@) 7 (3 (3) (b), (c) and (d)

4) (@) 7= (3) (4) (c)and (d)
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U b SR, SR Uoh § uiRd @Ml @1 Pl il 6. Answers to questions in answer sheet are to be given by
wge 9 9 AT 2, orr T S fexamar w2 darkening complete circle using Black ball point pen as

shown below :

® ® @ O @ B ®
(SRRl

3Mq gINT_faar T IR e ST, I IR AT The answer will be treated wrong, if it is marked, as given below :
A BT P TPR A R E & g

i3 o | SUET WHl $ WR T & Al TSI AR Terd If you fill more than one circle it will be treated as a wrong
HET ST | answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. X% B ‘;I'S:I—gﬁfidvl H 39 waoN ® fog & TS @rell g W& BN | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bacl OMR TR T3d WR 8l 3ifdhd P | 30 IR LIHYdd 3Afhd B | IR G 2g 29d Joid (Ahe Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. UAE T & fore Ry T g Rwedt # 9 3Ifaa fawer & fow OMR STR 956 W &de Uh gd &I & T RE Blof ard

wEge U9 9 W | U6 IR SR Afhd F9 & 915 99 gl 78l ol AhdTl ¥ 1 (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gad o {6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M 7 M | 3pgedi 301 IghHld SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT Td IR TS BT SAFYED JANT By, Fifd & aRRefT # (se—gRaer wd SR v9@ & HAie 3 e
o1 Rafq &1 Breaw) E;\Hﬂ U Eﬁ?ﬁﬂ e SUALT T8l FHRATS SITgT | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

W—W/W CEC fev U HHIG BT et TE TN I sFER de H ford | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

ameﬁaﬁqﬁmgm/amﬁmwsﬁ?mﬁqaa§aﬁrﬁaﬁﬁﬂﬁwaﬁm |Jrl, gfad A1 sRforiad BrTSl Bl
Ufedf, SR, AaIgd WF, Sdgiie UG I B 3 UBR B GEEH DI of S AT STAN HRA DI AT T8I © |
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TIed gRT I8 oM W UAd gl 30T Y%l & (I o) 3R Ugamd U= =i | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT wded B A SH‘T% P 77 DI el QAT I 7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PIRIRT YAAETH BT YOI STR UAP (U a1 v BeeR a1 WR IIART SRIER by {41 angedl uller sfe el uisi | afe
PRl ongefl 7 g AR BRMER 91 W BWER T8l by 1 I8 AF1 oMQ b I SR UAG T8l Al § AR I8
JfAd | & AT AT STYT | OMR SR U3d § FuiRa o w | anafdiat gmr 9 w19 & o &1 feme
wrrmméligwmﬁsmmwwmmmﬁwmﬁswﬁﬂﬁmmﬁammmhmaﬁ
AT T A g8d 8 g 7 8 §gd | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagih / BTalferd URded & SUANT affd 8 | (Use of Electronic/Manual Calculator is prohibited.)

e 8T § SR & oy, sngefi fGarfrer § & v uftar /Ry g ars & @ el v fafaEr o ey eam v |
g WREl & W AWl @ BEen dis & Ml Ud fafRmi & SR BN (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I W AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W w9
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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